
 
Name: _______________________ Subject: Mathematics Class:  11th  Time:  80 minutes Total Marks: 40 

Chapter No.11&12 MJDexpert.com Obtained marks   

 

Visit mjdexpert.com for more test, notes and past paper of 9th, 10th, 11th and 12th Class 
 

Note:     Please attempt any 10 short questions from Question 2. Also, attempt both parts  

                   of Question 3. Cutting and removal of any content is strictly prohibited. 
 
Question.No.01: - Choose the correct answer.            (10x01=10) 

i.  Sin 𝜃 =0.5791 then 𝜃 is: 35.3872 34.3872 33.9876 Undefined 

ii.  When two angles and one side are 
given then using 

Sine law Tangent law Cosine law None of 
these 

iii.  The period of sin 3𝑥 = 2𝜋
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iv.  The circle drawn inside a triangle 
touching its three sides is called 
 

In-circle Inscribed 
circle 

Ex-circle Both A and B 

v.  𝑐𝑜𝑠 
𝛼
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vi.  𝑐𝑜𝑠𝑖𝑛𝑒 𝑙𝑎𝑤 is using when Two angles and 
one side is 

given 

Two sides and 
one angle is 

given 

one angle and 
one side is 

given 

Both A and B 

vii.  cos 52013∕  0.6127         0.517 0.6227 0.7456 

viii.  Period of 𝑐𝑜𝑠𝑒𝑐 𝜃 is 3𝜋 4𝜋          2𝜋       5𝜋 

ix.  If a = 17 , b = 10 , c = 21  then ‘S’ is 49 24 48 74 

x.  Area of triangle when  a , b sides and 
angle 𝛼 are given then using formula 
is  
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None of 
these 

 

Question.No.02:-Solve all parts.        (02x10=20) 

i. Find the measure of the greatest angle, if sides of the triangle are 16, 20, 33. 

ii. Find area of the triangle ABC, if          b= 25.4    , 𝛾 =36°41      , 𝛼 =45°17 

iii. Define ex-circle and in-circle. 

iv. Find r, r1, and r3  , if measure of the sides                         a = 34   ,   b = 20     ,c = 42 

v. The area of triangle is 2437. If   𝛼 = 79  and  c = 97 , then find angle  𝛽 

vi.  Find the area of triangle ABC        when      a = 18 ,    b = 24     ,    c = 30 

vii. Prove the Hero’s formula. 

viii.  Show that                      r2 = 𝑠 𝑡𝑎𝑛
𝛽

2
 

ix. Prove that          𝑎𝑏𝑐 ( sin 𝛼 + sin 𝛽 + sin 𝛾 ) = 4∆𝑠      

x.  Show that    𝑟 𝑟1 𝑟2 𝑟3 = ∆2 

 

Question.No.03: -Attempt All Questions.                 (02x05=10) 

A. Prove that in an equilateral triangle;                                   r  :  R  :  r1  = 1 :  2  :  3 

B. Prove that                                                                                  𝑟2 = 4𝑅 𝑐𝑜𝑠 
𝛼
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